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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

CV 
T-1 	 June, 2012 

ELECTIVE COURSE : ECONOMICS 

EEC-12 : INDIAN ECONOMIC 
DEVELOPMENT SINCE INDEPENDENCE 

Time : 3 hours 	
Maximum Marks : 100 

Note : Attempt questions from each section as per instructions 
given under each section. 

SECTION - A 
Long-Answer Questions 

Answer any two questions from this section. 	2x20=40 
1. State the basic objectives of economic planning in 

India. How far have these been realized ? 

2. What do you mean by carrying capacity of an 

ecosystem ? How can the carrying capacity of 
natural ecosystem be enhanced ? 

3. Discuss the importance of agriculture in the 

Indian economy. Has there been any change in 
this situation in recent years ? 

4. Critically examine the land reforms initiated in 

the post-independence period in India. 
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SECTION - B 

Medium-Answer Questions 

Answer any four questions from this section. 	4x12=48 

5. What is globalization ? State the factors 
responsible for increasing globalization of Indian 

economy. 

6. How does inflation affect the poor people ? 
Discuss the corrective measures to control 

inflation. 

7. State the importance of capability poverty index. 
How does it differ from Human Development 

Index ? 

8. Write a note on the need and importance of 
having good industrial relations in India. 

9. Define the term 'industrial sickness'. What factors 

are responsible for this problem ? 

10. Make out a case for the promotion of small scale 

industries in India. 
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SECTION - C 

Short-Answer Questions 

Answer both the questions from this section, as 
directed. 	

2x6=12 

11. Distinguish between any two of the following : 2x3=6 
(a) Current and constant prices estimates of 

GDP 

(b) Strikes and Lock-outs 

(c) Gross sown area and Net sown area 

12. Explain any two of the following concepts : 

(a) Bio-diversity 

(b) Physical Quality of Life Index (PQLI) 

(c) Elasticity of employment 

2x3=6 
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